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PIEX  BEgE\ R KAE 1 650
BT\ TS 2 1300
DX EAgE )\ TRk 1 650
BT\ 329 1 650
BT\ 7K IE 2 1300
R EATIE )\ B FEkEE 2 1300
PEX g T30S 1 650
PEX  mgnE ) EF 1 650
B EATIE )\ B R 1 650
PHEX  EhgE ) ABSCUR 4 2520
B ATIE RIRAR EEZE 1 650
WIEX  BAEfE  KIEEHE 3 1890
DX EAfNE R EEZE 2 1300
DIENX  BEfE  RIF T 3 1890
RN PN LT VIES 1 650
DEX  EEEfE K s 1 650
DEX  EEEE KXl 3 1890
A ST R 1 650
PHEX EEfng  KsEgE 1 650
B E AT TE KR AR B 1 650
R RN AT ZHETD 1 620
BRI VT Pk e 2 1200
BREATIE B 4 X s 1 650
BT IE VT e 1 630
BT IE VT HBEE R 1 630
BEfE ) XA ) £ 1 650
BREATTE ] XA N LR 1 650
PIEX  BEfE A ERNT 1 650
DEX  BEEATE k| EERED 1 650
PHEX EhfE )| FRE 1 650
PIEX  EEfE fIESY 1 650
BEATE A = K 1 650
DX EAfnNE 2 FHooih 1 650
PIEX BEfE IR ER 1 650
AT A R ] &R 1 650
DX BEEfNE a1 EEME 2 1300
DX EANE 2| VR 2 1300
BT IE I B FE> 2 1200
PEX BEEfE ST 1 650
B E AT IE I B HRET 1 630
DX B 5] T 1 650
PIEX  EEgE S g 1 650
PEX BEEfNE JETE 1 650
PEX BTSSR BT 1 650
PEX  BEfE G EZ 3 1890
DX  EAEfE s K 1 650
BT TE AR gk 22 IR 1 650
R AT TE AR FOARs 1 650
B AT TE AR M 1 650
PHEX  Eafng iR 1 650
PIEX  EEfE SFE R 2 1300
YEX  EEAE IR 2 1300
PHEX AN s &KH 1 650




% R AT TE RS T 27K 1 650
R AT RS A B0 1 650
B HTIE B pllisE 1 650
DX EAfnE JEIRER 2 1300
PIENX  EEfE X E 2 1300
BT = KT sk an 4 1 650
BEHTIE = HE T i P 2 1220
B = K T XNEE 1 650
BREHTIE = KT W EOh 2 1300
BREHTIE = K5 T AR 3 1860
B EHTIE — KT K eI 4 2440
BREHTIE — KT 7K KE] 1 650
BREHTIE = X T K AR fill 1 650
BEHTIE = K5 T i EIR 1 650
B = s 5K H B 2 1300
PIEX  BEfAE P 1 650
BEHTIE = XE T Ao 1 650
B ATTE = B A X | FE 4 4 2400
BT ST FERTT 1 650
B EHTIE — T Gl 1 650
B EHTIE — KT TR AT 2 1300
DIEX s ) F A 1 650
PIEX  BEAfE =X 1 650
BREHTIE = M X DA EE 1 650
BEHE =KX NEAE TS 1 650
DX BEfgE =[x 1 650
DEX S sk 1 650
R o b ARG 1 650
BEHE =X L | S 1 650
B EHTIE A — BEEFH 1 650
B EHTTE X = XEFEE 1 640
PIENX  BEfE ) FkKE 1 650
BTl = 5 A X el | R 2T 1 650
BREHTIE = KA X 5k = | ik i AE 1 650
Bl = S A XN (A d5 ik 1 650
BTl = 5 A X e el | b 1 650
DX BEEfE 1 INE 1 650
B EATIE = B4 XN B e AL 1 650
B = R X | SRS 1 650
BEAE TN FEE 1 650
BT IE v MZES 2 1300
B AT o T EE 1 650
B A o FHAL 2 1220
AT v ZHE 1 650
BT - AR =Y 1 620
PEX EEfghE T EFk 1 650
PEX EEfnE  Usaa 1 650
PEX  EEfnE T ER 2 1300
PREX BEhfng 1 1#e 1 650
DEX  BEEfE  asAM 1 650
DX EAfnNE > 2 1260
DENX  BEAE e R 1 650
WIEX  EAEfE e s 4 2520
DX EAfnNE ldRk 1 650




B T AR 5 ] =B 1 650
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B EHTIE AR IE MEE 1 620
DX  EhgE B ER 1 650
B AT TE A 1 LA 1 630
PIEX EEfE 15 xR2 4 2520
PEX EEfE  fedmih 1 650
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PIEX s YA 1 650
DEX BEfE N EER 3 1890
DX EAfhE Y EVEH 1 650
PEX  BEAE Y EE 1 650
WIEX  EAEfE i aEh 2 1300
DX EAEfhE JETAa 2 1300
PIEX  EEAE  YrpE R 1 650
PHEX  EEgE I EIE 1 650
DX  EEfNE YT = EE 2 1300
DX  Ehfng JrlET 2 1300
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B EHTIE YT IEAL X P P E 2 1300
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B T A X PN 2R i T 2 1300
B AT T BT TRIL 1 640
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BYEHTIE XA A T4 1 630
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